

Tabulation of Bids Page:

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 **District(s):** C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(1) INTERCOU ASSO		(2) STAVOLA C CO.,		, , ,	E ASPHALT IPANY
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY			Cat Alt Set:		Cat Alt Member:			
0001	151006M	1.000	24,728.00000	24,728.00	25,000.00000	25,000.00	10,000.00000	10,000.00
_	RMANCE BOND AND IT BOND	DOLL						
0004	153003P	(1)	2,650.00000	2,650.00	5,000.00000	5,000.00	1,700.00000	1,700.00
PROGRE	ESS SCHEDULE	LS						
0005	153006P	3.000	550.00000	1,650.00	1,000.00000	3,000.00	250.00000	750.00
PROGRE	ESS SCHEDULE UPD	ATE U						
0006	154003P	(1)	324,308.40000	324,308.40	170,497.72000	170,497.72	328,493.92000	328,493.92
MOBILIZ	ATION	LS						
0009	157004M	1.000	2,785.00000	2,785.00	10,000.00000	10,000.00	6,875.00000	6,875.00
CONSTR	RUCTION LAYOUT	DOLL						



Tabulation of Bids

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(1) INTERCOU ASSO		(2) STAVOLA CONTRACTING CO., INC.		(3) EARLE ASPHALT COMPANY	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY				Cat Al	t Set:	Cat A	It Member:	
0012	159003M	30.000	100.00000	3,000.00	0.01000	0.30	0.01000	0.30
BREAKA	WAY BARRICADE	U						
0013	159006M	250.000	0.01000	2.50	0.01000	2.50	0.01000	2.50
DRUM		U						
0014	159009M	700.000	0.01000	7.00	0.01000	7.00	0.01000	7.00
TRAFFIC	CONE	U						
0015	159012M	722.000	11.50000	8,303.00	0.01000	7.22	0.01000	7.22
CONST	RUCTION SIGNS	SF						
0016	159015M	2.000	800.00000	1,600.00	1,000.00000	2,000.00	1,025.00000	2,050.00
CONSTR SIGN, 4'	RUCTION IDENTIFICA X 8'	TION U						

Page: 3

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(1) INTERCOU ASSO		(2) STAVOLA CONTRACTING CO., INC.		(3) EARLE ASPHALT COMPANY	
Alt Se	et / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0017	159027M	2.000	425.00000	850.00	1,500.00000	3,000.00	0.01000	0.02
FLASHI	NG ARROW BOARD, 4	' X 8' U						
0018	159030M	2.000	1,100.00000	2,200.00	1,500.00000	3,000.00	14,140.00000	28,280.00
PORTAE SIGN	BLE VARIABLE MESSA	AGE U						
0019	159108M	2.000	30,000.00000	60,000.00	2,000.00000	4,000.00	17,360.00000	34,720.00
	C CONTROL TRUCK V ED CRASH CUSHION							
0020	159126M	150,000.000	0.21000	31,500.00	0.20000	30,000.00	0.21000	31,500.00
TEMPOR	RARY TRAFFIC STRIP	PES, LF						
0021	159132M	5,000.000	1.28000	6,400.00	2.65000	13,250.00	1.26000	6,300.00
TEMPOI MARKIN	RARY PAVEMENT IGS	SF						

Page:

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(1) INTERCOU ASSO		(2) STAVOLA CONTRACTING CO., INC.		(3) EARLE ASPHALT COMPANY	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY				Cat Alt Set: Cat Alt Member:				
0022	160004M	1.000	17,000.00000	17,000.00	17,000.00000	17,000.00	17,000.00000	17,000.00
FUEL P	RICE ADJUSTMENT	DOLL						
0023	160007M	1.000	30,000.00000	30,000.00	30,000.00000	30,000.00	30,000.00000	30,000.00
ASPHAL	T PRICE ADJUSTM	ENT DOLL						
0024	161003P	(1)	3,900.00000	3,900.00	10,000.00000	10,000.00	5,000.00000	5,000.00
FINAL C	LEANUP	LS						
0025	201003P	(1)	3,900.00000	3,900.00	10,000.00000	10,000.00	30,000.00000	30,000.00
CLEARI	NG SITE	LS						
0026	203006P	133.000	65.50000	8,711.50	25.00000	3,325.00	14.27000	1,897.91
I-7 SOIL	AGGREGATE	CY						



Tabulation of Bids

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(1) INTERCOU ASSO		(2) STAVOLA CONTRACTING CO., INC.		(3) EARLE ASPHALT COMPANY	
Alt Se	t / Alt Member (Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0027	302051P	400.000	15.00000	6,000.00	25.00000	10,000.00	4.23000	1,692.00
_	GRADED AGGREGATI DURSE, VARIABLE ESS	E CY						
0028	401009P	256,576.000	2.60000	667,097.60	3.00000	769,728.00	2.86000	733,807.36
HMA MII	LING, 3" OR LESS	SY						
0029	401021M	5,100.000	5.00000	25,500.00	0.01000	51.00	5.77000	29,427.00
HOT MIX	(ASPHALT PAVEMEN	T SY						
0030	401027M	72,000.000	0.31000	22,320.00	0.40000	28,800.00	0.07000	5,040.00
POLYME	ERIZED JOINT ADHES	IVE LF						
0031	401030M	32,100.000	0.01000	321.00	0.01000	321.00	0.01000	321.00
TACK C	DAT	GAL						



Tabulation of Bids

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(1) INTERCOU ASSO		(2) STAVOLA CONTRACTING CO., INC.		(3) EARLE ASPHALT COMPANY	
Alt Set / A	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY	Cat Alt		t Set: Cat A		It Member:	
0032 4	101036M	15,800.000	0.01000	158.00	0.01000	158.00	0.01000	158.00
PRIME COA	ΑT	GAL						
0033 4	101054M	14,600.000	69.00000	1,007,400.00	77.00000	1,124,200.00	72.02000	1,051,492.00
HOT MIX AS	SPHALT 12.5 M 64 COURSE	T T						
0034 4	101060M	22,200.000	78.20000	1,736,040.00	81.00000	1,798,200.00	77.97000	1,730,934.00
HOT MIX AS	SPHALT 12.5 M 76 COURSE	S T						
0035 4	101090M	581.000	81.25000	47,206.25	85.00000	49,385.00	79.69000	46,299.89
	SPHALT 19 M 76 IATE COURSE	Т						
0036 4	101108M	184.000	59.00000	10,856.00	180.00000	33,120.00	50.00000	9,200.00
CORE SAM ASPHALT	PLES, HOT MIX	U						

Page: 7

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(1) INTERCOU ASSO					E ASPHALT PANY
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY				Cat Al	t Set:	Cat Alt Member:		
0037	602210M	15.000	225.00000	3,375.00	345.00000	5,175.00	336.90000	5,053.50
BICYCLE	E SAFE GRATE	U						
0038	602213M	28.000	285.00000	7,980.00	410.00000	11,480.00	395.35000	11,069.80
CURB PI	IECE	U						
0039	602214M	27.000	235.00000	6,345.00	315.00000	8,505.00	238.44000	6,437.88
INLET F	ACE PLATE	U						
0040	607006P	140.000	150.00000	21,000.00	101.00000	14,140.00	147.00000	20,580.00
24" X 32' CURB	" CONCRETE BARRIE	ER LF						
0041	607018P	356.000	50.75000	18,067.00	42.00000	14,952.00	41.75000	14,863.00
9" X 16" CURB	CONCRETE VERTICA	AL LF						

Page: 8

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(1) INTERCOU ASSO		(2) STAVOLA CONTRACTING CO., INC.		(3) EARLE ASPHALT COMPANY	
Alt Se	t / Alt Member C	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0042	608004P	562.000	48.00000	26,976.00	47.00000	26,414.00	36.75000	20,653.50
	GETATIVE SURFACE, S HOT MIX ASPHALT,	SY 4"						
0043	609003M	745.000	38.25000	28,496.25	38.00000	28,310.00	29.93000	22,297.85
BEAM G	UIDE RAIL	LF						
0044	609039M	2.000	950.00000	1,900.00	900.00000	1,800.00	1,050.00000	2,100.00
BEAM G	UIDE RAIL ANCHORAG	GE U						
0045	609075M	745.000	4.30000	3,203.50	4.25000	3,166.25	1.05000	782.25
REMOV	AL OF BEAM GUIDE RA	AIL LF						
0046	610003M	160,000.000	0.30000	48,000.00	0.30000	48,000.00	0.30000	48,000.00
TRAFFIC	STRIPES, 4"	LF						



Tabulation of Bids

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 **District(s):** C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(1) INTERCOU ASSO		(2) STAVOLA C CO.,			E ASPHALT PANY
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY				Cat Al	t Set:	Cat Alt Member:		
0047	610007M	7,000.000	0.55000	3,850.00	0.60000	4,200.00	0.61000	4,270.00
TRAFFIC	C STRIPES, 8"	LF						
0048	610009M	8,000.000	3.50000	28,000.00	3.75000	30,000.00	3.56000	28,480.00
TRAFFIC	MARKINGS	SF						
0049	610012M	900.000	24.50000	22,050.00	26.00000	23,400.00	24.15000	21,735.00
RPM, MO LENS	ONO-DIRECTIONAL, V	VHITE U						
0050	610018M	560.000	24.50000	13,720.00	26.00000	14,560.00	24.15000	13,524.00
RPM, MO	ONO-DIRECTIONAL, LENS	U						
0051	610024M	1,460.000	3.75000	5,475.00	3.25000	4,745.00	9.08000	13,256.80
REMOV	AL OF RPM	U						



Tabulation of Bids

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(1) INTERCOU ASSO		(2) STAVOLA CONTRACTING CO., INC.		\ , ,	(3) EARLE ASPHALT COMPANY	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 ROADWAY			Cat Al	t Set:	Cat Alt Member:				
0052	610033M	48,000.000	0.20000	9,600.00	0.50000	24,000.00	0.19000	9,120.00	
RUMBLE	STRIP	LF							
0053	701120M	2.000	250.00000	500.00	1,500.00000	3,000.00	753.06000	1,506.12	
JUNCTIO COVER	N BOX FRAME AND	U							
Section	on Totals:			\$4,304,932.00		\$4,418,899.99		\$4,386,684.82	



Tabulation of Bids

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

Line No / Item ID Item Description		(1) INTERCOUN ASSOC		(2) STAVOLA CONTRACTING COMPA				
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 CONSTRUCT			ON ENGINEERING	G Cat Alt	Set:	Cat A	It Member:	
0007	155006M	1.000	10,500.00000	10,500.00	10,000.00000	10,000.00	41,784.88000	41,784.88
FIELD OI	FFICE TYPE B SET U	JP U						
8000	155024M	11.000	2,700.00000	29,700.00	2,700.00000	29,700.00	3,680.00000	40,480.00
FIELD OI MAINTEN	FFICE TYPE B NANCE	MO						
Section	on Totals:			\$40,200.00		\$39,700.00		\$82,264.88



Tabulation of Bids Page: 12

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(1) INTERCOU ASSO			A CONTRACTING (3) EARLE AS COMPAN			
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTIO	ON: 0003	NON-PARTICII	PATING	Cat Al	t Set:	Cat A	Member:		
0002	152004P	1.000	6,000.00000	6,000.00	5,000.00000	5,000.00	3,500.00000	3,500.00	
_	'S AND CONTRACTOR CTIVE LIABILITY NCE	R'S DOLL							
0003	152015P	1.000	1.00000	1.00	0.01000	0.01	0.01000	0.01	
POLLUT	ION LIABILITY INSUR	ANCE DOLL							
Section	on Totals:			\$6,001.00		\$5,000.01		\$3,500.01	



Tabulation of Bids Page: 13

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

Line No / Item ID Item Description		(1) INTERCOU ASSOC		(2) STAVOLA CONTRACTING COMP				
Alt Set / A	It Member Qua	intity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0004	EROSION CON	NTROL	Cat Alt	Set:	Cat A	It Member:	
0010 1	58063P	(1)	1,250.00000	1,250.00	1,000.00000	1,000.00	500.00000	500.00
CONCRETE	WASHOUT SYSTEM	LS						
0011 1	58072M	2.000	1,000.00000	2,000.00	500.00000	1,000.00	0.01000	0.02
OIL ONLY EI TYPE 1	MERGENCY SPILL KI	T, U						
Section 1	Γotals:			\$3,250.00		\$2,000.00		\$500.02

Tabulation of Bids

Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

Contract ID: 14110

	Line No / Item ID Item Description		(1) INTERCOU ASSO		(2) STAVOLA CONTRACTING CO., INC.		(3) EARLE ASPHALT COMPANY	
Alt Set / Al	t Member Quant	ity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	SECTION: 0005 LANDSCAPE		Cat Alt Set:		Cat A	Cat Alt Member:		
0054 80)4012P	420.000	3.00000	1,260.00	8.00000	3,360.00	14.19000	5,959.80
TOPSOILING	S, 8" THICK	SY						
0055 80	04015P	100.000	26.85000	2,685.00	30.00000	3,000.00	42.36000	4,236.00
BORROW TO	PSOIL	CY						
0056 80	06006P	420.000	0.80000	336.00	1.00000	420.00	2.49000	1,045.80
FERTILIZING A-3	S AND SEEDING, TYPE	SY						
0057 80	09003M	420.000	0.80000	336.00	1.00000	420.00	0.29000	121.80
STRAW MUL	CHING	SY						
Section T	otals:			\$4,617.00		\$7,200.00		\$11,363.40
	Contract Totals			\$4,359,000.00		\$4,472,800.00		\$4,484,313.13
	Cost Plus Time Totals			\$4,359,000.00		\$4,472,800.00		4,484,313.13



Page: 15

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

Contract Description: ROUTE 18 FROM ROUTE 34 TO C.R. 547

() indicates item is bid as Lump Sum



Tabulation of Bids

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 **District(s):** C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	lo / Item ID Description		(4) TARHEEL E		(5) SCHIFANO CONSTRUCTION CORP		(6) LUCAS CONSTRUCTION GROUP, INC	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON : 0001	ROADWAY		Cat Al	t Set:	Cat Alt Member:		
0001	151006M	1.000	23,341.49000	23,341.49	26,200.00000	26,200.00	25,000.00000	25,000.00
_	RMANCE BOND AND NT BOND	DOLL						
0004	153003P	(1)	3,360.00000	3,360.00	1,500.00000	1,500.00	2,500.00000	2,500.00
PROGR	ESS SCHEDULE	LS						
0005	153006P	3.000	472.50000	1,417.50	500.00000	1,500.00	500.00000	1,500.00
PROGR	ESS SCHEDULE UPD	ATE U						
0006	154003P	(1)	218,872.67000	218,872.67	225,000.00000	225,000.00	545,000.00000	545,000.00
MOBILIZ	ZATION	LS						
0009	157004M	1.000	13,860.00000	13,860.00	5,000.00000	5,000.00	7,500.00000	7,500.00
CONSTRUCTION LAYOUT DOLL								



Tabulation of Bids

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(4) TARHEEL E		(5) SCHIFANO CONSTRUCTION CORP		(6) LUCAS CONSTRUCTION GROUP, INC	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY	Cat Alt		t Set: Cat A		It Member:	
0012	159003M	30.000	121.34000	3,640.20	100.00000	3,000.00	100.00000	3,000.00
BREAKA	WAY BARRICADE	U						
0013	159006M	250.000	69.34000	17,335.00	1.00000	250.00	50.00000	12,500.00
DRUM		U						
0014	159009M	700.000	16.18000	11,326.00	15.00000	10,500.00	10.00000	7,000.00
TRAFFIC	CONE	U						
0015	159012M	722.000	13.87000	10,014.14	10.50000	7,581.00	9.50000	6,859.00
CONSTR	UCTION SIGNS	SF						
0016	159015M	2.000	892.50000	1,785.00	1,250.00000	2,500.00	900.00000	1,800.00
CONSTR SIGN, 4'	RUCTION IDENTIFICA X 8'	ATION U						



Tabulation of Bids

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(4) TARHEEL E			(5) SCHIFANO CONSTRUCTION CORP (6) LUCAS CON GROUP		
Alt Se	t / Alt Member (Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0017	159027M	2.000	798.34000	1,596.68	500.00000	1,000.00	1,000.00000	2,000.00
FLASHIN	NG ARROW BOARD, 4'	X 8' U						
0018	159030M	2.000	2,754.26000	5,508.52	8,000.00000	16,000.00	4,000.00000	8,000.00
PORTAE SIGN	BLE VARIABLE MESSA	GE U						
0019	159108M	2.000	11,556.00000	23,112.00	10,000.00000	20,000.00	9,500.00000	19,000.00
	CONTROL TRUCK W ED CRASH CUSHION	'ITH U						
0020	159126M	150,000.000	0.19000	28,500.00	0.23000	34,500.00	0.20000	30,000.00
TEMPOF 4"	RARY TRAFFIC STRIPE	≣S, LF						
0021	159132M	5,000.000	2.63000	13,150.00	0.82000	4,100.00	0.80000	4,000.00
TEMPOR MARKIN	RARY PAVEMENT GS	SF						



Tabulation of Bids

Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

Contract ID: 14110

	Line No / Item ID Item Description		(4) TARHEEL E		(5) SCHIFANO (6) CONSTRUCTION CORP			(6) LUCAS CONSTRUCTION GROUP, INC	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 ROADWAY		ROADWAY		Cat Alt	t Set: Cat A		Alt Member:		
0022	160004M	1.000	17,000.00000	17,000.00	17,000.00000	17,000.00	17,000.00000	17,000.00	
FUEL PF	RICE ADJUSTMENT	DOLL							
0023	160007M	1.000	30,000.00000	30,000.00	30,000.00000	30,000.00	30,000.00000	30,000.00	
ASPHAL	T PRICE ADJUSTME	NT DOLL							
0024	161003P	(1)	13,713.02000	13,713.02	1,500.00000	1,500.00	5,000.00000	5,000.00	
FINAL C	LEANUP	LS							
0025	201003P	(1)	30,000.00000	30,000.00	5,000.00000	5,000.00	15,000.00000	15,000.00	
CLEARI	NG SITE	LS							
0026	203006P	133.000	65.19000	8,670.27	45.00000	5,985.00	45.00000	5,985.00	
I-7 SOIL	AGGREGATE	CY							



Tabulation of Bids

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(4) TARHEEL E IN		(5) SCHIFANO CONSTRUCTION CORP		(6) LUCAS CONSTRUCTION GROUP, INC	
Alt Set / A	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0027 3	302051P	400.000	67.03000	26,812.00	45.00000	18,000.00	20.00000	8,000.00
	ADED AGGREGATE RSE, VARIABLE S	CY						
0028	101009P	256,576.000	3.23000	828,740.48	3.45000	885,187.20	3.75000	962,160.00
HMA MILLIN	NG, 3" OR LESS	SY						
0029	101021M	5,100.000	55.08000	280,908.00	65.00000	331,500.00	31.00000	158,100.00
HOT MIX AS REPAIR	SPHALT PAVEMENT	SY						
0030	101027M	72,000.000	0.37000	26,640.00	0.34000	24,480.00	0.20000	14,400.00
POLYMERIA	ZED JOINT ADHESIV	E LF						
0031	101030M	32,100.000	0.01000	321.00	0.01000	321.00	0.01000	321.00
TACK COA	Г	GAL						



Tabulation of Bids

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(4) TARHEEL E IN		(5) SCHIFANO CONSTRUCTION CORP (6) LUCAS CONS GROUP, I			
Alt Set / A	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0032 4	01036M	15,800.000	0.01000	158.00	0.01000	158.00	0.01000	158.00
PRIME COA	λT	GAL						
0033 4	01054M	14,600.000	76.93000	1,123,178.00	87.85000	1,282,610.00	82.00000	1,197,200.00
HOT MIX AS SURFACE C	SPHALT 12.5 M 64 COURSE	Т						
0034 4	01060M	22,200.000	76.69000	1,702,518.00	80.00000	1,776,000.00	87.00000	1,931,400.00
HOT MIX AS	SPHALT 12.5 M 76 COURSE	5 T						
0035 4	-01090M	581.000	93.01000	54,038.81	84.10000	48,862.10	100.00000	58,100.00
	SPHALT 19 M 76 ATE COURSE	Т						
0036 4	-01108M	184.000	42.80000	7,875.20	100.00000	18,400.00	100.00000	18,400.00
CORE SAMI ASPHALT	PLES, HOT MIX	U						



Tabulation of Bids

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 **District(s):** C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(4) TARHEEL E		(5) SCHIFANO CONSTRUCTION CORP		(6) LUCAS CONSTRUCTION GROUP, INC	
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Al	Cat Alt Set: Cat Alt Member:			
0037	602210M	15.000	206.53000	3,097.95	473.00000	7,095.00	500.00000	7,500.00
BICYCLE	SAFE GRATE	U						
0038	602213M	28.000	193.19000	5,409.32	450.00000	12,600.00	750.00000	21,000.00
CURB PI	ECE	U						
0039	602214M	27.000	88.14000	2,379.78	440.00000	11,880.00	600.00000	16,200.00
INLET FA	ACE PLATE	U						
0040	607006P	140.000	110.57000	15,479.80	85.00000	11,900.00	200.00000	28,000.00
24" X 32" CURB	' CONCRETE BARRIE	R LF						
0041	607018P	356.000	58.07000	20,672.92	43.50000	15,486.00	75.00000	26,700.00
9" X 16" (CURB	CONCRETE VERTICA	L LF						



Tabulation of Bids

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 **District(s):** C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(4) TARHEEL E			(5) SCHIFANO CONSTRUCTION CORP (6) LUCAS CONSTRUCTION CORP		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	SECTION: 0001 ROADWAY			Cat Alt	Set:	Cat A	t Member:	
0042	608004P	562.000	36.75000	20,653.50	38.50000	21,637.00	36.00000	20,232.00
	GETATIVE SURFACE, S HOT MIX ASPHALT,	SY 4"						
0043	609003M	745.000	29.93000	22,297.85	31.35000	23,355.75	30.00000	22,350.00
BEAM G	UIDE RAIL	LF						
0044	609039M	2.000	1,050.00000	2,100.00	1,100.00000	2,200.00	1,152.00000	2,304.00
BEAM G	UIDE RAIL ANCHORA	AGE U						
0045	609075M	745.000	1.05000	782.25	1.10000	819.50	1.00000	745.00
REMOVA	AL OF BEAM GUIDE R	RAIL LF						
0046	610003M	160,000.000	0.29000	46,400.00	0.36000	57,600.00	0.34000	54,400.00
TRAFFIC STRIPES, 4" LF								



Tabulation of Bids

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(4) TARHEEL E		(5) SCHIFANO CONSTRUCTION CORP			ONSTRUCTION JP, INC
Alt Set /	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	ROADWAY		Cat Al	t Set:	Cat A	Alt Member:	
0047	610007M	7,000.000	0.59000	4,130.00	0.66000	4,620.00	0.65000	4,550.00
TRAFFIC S	STRIPES, 8"	LF						
0048	610009M	8,000.000	3.68000	29,440.00	2.15000	17,200.00	2.10000	16,800.00
TRAFFIC N	MARKINGS	SF						
0049	610012M	900.000	25.20000	22,680.00	26.35000	23,715.00	25.00000	22,500.00
RPM, MON LENS	NO-DIRECTIONAL, WH	ITE U						
0050	610018M	560.000	25.20000	14,112.00	26.35000	14,756.00	25.00000	14,000.00
RPM, MON AMBER LE	NO-DIRECTIONAL, ENS	U						
0051	610024M	1,460.000	4.30000	6,278.00	2.00000	2,920.00	10.00000	14,600.00
REMOVAL	OF RPM	U						



Tabulation of Bids Page: 25

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

Line No / Item ID Item Description		(4) TARHEEL E IN		(5) SCHIFANO CONSTRUCTION CORP			(6) LUCAS CONSTRUCTION GROUP, INC		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 ROADWAY				Cat Alt	Set:	Cat A	Cat Alt Member:		
0052	610033M	48,000.000	0.19000	9,120.00	0.20000	9,600.00	0.30000	14,400.00	
RUMBLE	STRIP	LF							
0053	701120M	2.000	1,346.19000	2,692.38	1,850.00000	3,700.00	1,500.00000	3,000.00	
JUNCTIO COVER	ON BOX FRAME AND	U							
Secti	Section Totals:			\$4,755,117.73		\$5,044,718.55		\$5,386,164.00	



Tabulation of Bids

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

Line No / Item ID Item Description		(4) TARHEEL EN	TERPRISES			ONSTRUCTION JP, INC		
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0002	CONSTRUCTI	ON ENGINEERING	Cat Alt	t Set:	Cat A	It Member:	
0007	155006M	1.000	44,031.17000	44,031.17	19,981.00000	19,981.00	25,000.00000	25,000.00
FIELD O	FFICE TYPE B SET	UP U						
8000	155024M	11.000	3,642.65000	40,069.15	1,750.00000	19,250.00	2,500.00000	27,500.00
FIELD O	FFICE TYPE B NANCE	MO						
Section	on Totals:			\$84,100.32		\$39,231.00		\$52,500.00

Tabulation of Bids

Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

Contract ID: 14110

Contr	Solitiact Description. NOOTE TO FROM NOOTE 54 TO C.N. 547									
	o / Item ID escription		(4) TARHEEL E IN		PRISES (5) SCHIFANO CONSTRUCTION CORP		(6) LUCAS CONSTRUCTION GROUP, INC			
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount		
SECTIO	N: 0003	NON-PARTICII	PATING	Cat Alt	Set:	Cat A	It Member:			
_	152004P S AND CONTRACTOR TIVE LIABILITY NCE	1.000 R'S DOLL	9,070.91000	9,070.91	5,300.00000	5,300.00	5,000.00000	5,000.00		
0003 POLLUT	152015P ION LIABILITY INSUR	1.000 ANCE DOLL	18,000.00000	18,000.00	500.00000	500.00	1.00000	1.00		
Section	on Totals:			\$27,070.91		\$5,800.00		\$5,001.00		



Tabulation of Bids Page: 28

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(4) TARHEEL E		` '			AS CONSTRUCTION BROUP, INC	
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTIO	N : 0004	EROSION CON	NTROL	Cat Alt	Set:	Cat A	t Member:		
0010	158063P	(1)	3,675.00000	3,675.00	3,500.00000	3,500.00	500.00000	500.00	
CONCRE	ETE WASHOUT SYST	EM LS							
0011	158072M	2.000	2,542.32000	5,084.64	1,500.00000	3,000.00	250.00000	500.00	
OIL ONL' TYPE 1	Y EMERGENCY SPILI	_KIT, U							
Section	on Totals:			\$8,759.64		\$6,500.00		\$1,000.00	



Tabulation of Bids

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 **District(s):** C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

Line No / Item Desc			(4) TARHEEL E IN		(5) SCHIFANO CONSTRUCTION CORP		(6) LUCAS CONSTRUCTION GROUP, INC	
Alt Set / A	Alt Member Quar	ntity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	SECTION: 0005 LANDSCAPE		Cat Alt Set:		Cat Alt Member:			
	04012P G, 8" THICK	420.000 SY	6.97000	2,927.40	5.00000	2,100.00	10.00000	4,200.00
0055 8	04015P	100.000	73.78000	7,378.00	45.00000	4,500.00	40.00000	4,000.00
BORROW T 0056 8	OPSOIL 06006P	CY 420.000	3.15000	1,323.00	1.00000	420.00	2.00000	840.00
FERTILIZIN A-3	G AND SEEDING, TYPE	SY SY						
0057 8 STRAW MU	09003M LCHING	420.000 SY	3.15000	1,323.00	1.00000	420.00	2.00000	840.00
Section	Totals:			\$12,951.40		\$7,440.00		\$9,880.00
	Contract	Totals		\$4,888,000.00		\$5,103,689.55		\$5,454,545.00
	Cost Plus T	ime Totals		\$4,888,000.00		\$5,103,689.55		5,454,545.00



Page: 30

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

Contract Description: ROUTE 18 FROM ROUTE 34 TO C.R. 547

() indicates item is bid as Lump Sum



Tabulation of Bids

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(7) C J HE	SSE INC				
	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0001	151006M	1.000	25,000.00000	25,000.00				
	RMANCE BOND AND NT BOND	DOLL						
0004	153003P	(1)	10,000.00000	10,000.00				
PROGRE	ESS SCHEDULE	LS						
0005	153006P	3.000	1,000.00000	3,000.00				
PROGRE	ESS SCHEDULE UPD	DATE U						
0006	154003P	(1)	400,000.00000	400,000.00				
MOBILIZ	ATION	LS						
0009	157004M	1.000	75,000.00000	75,000.00				
CONSTR	RUCTION LAYOUT	DOLL						
0012	159003M	30.000	100.00000	3,000.00				
BREAKA	WAY BARRICADE	U						

Tabulation of Bids

Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

Contract ID: 14110

Line No /			(7) C J HE	SSE INC				
	-	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	: 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0013	159006M	250.000	80.00000	20,000.00				
DRUM		U						
0014	159009M	700.000	30.00000	21,000.00				
TRAFFIC C	ONE	U						
0015	159012M	722.000	15.00000	10,830.00				
CONSTRUC	CTION SIGNS	SF						
0016	159015M	2.000	1,900.00000	3,800.00				
CONSTRUC SIGN, 4' X 8	CTION IDENTIFICATI B'	ON U						
0017	159027M	2.000	2,500.00000	5,000.00				
FLASHING	ARROW BOARD, 4'	X 8' U						



Tabulation of Bids

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(7) C J HE	SSE INC				
	•	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0001	ROADWAY		Cat Alt	: Set:	Cat Alt Member:		
0018	159030M	2.000	25,000.00000	50,000.00				
PORTAB SIGN	BLE VARIABLE MESSA	GE U						
0019	159108M	2.000	30,000.00000	60,000.00				
_	C CONTROL TRUCK W ED CRASH CUSHION	/ITH U						
0020	159126M	150,000.000	0.30000	45,000.00				
TEMPOF 4"	RARY TRAFFIC STRIP	ES, LF						
0021	159132M	5,000.000	1.00000	5,000.00				
TEMPOR MARKIN	RARY PAVEMENT GS	SF						
0022	160004M	1.000	17,000.00000	17,000.00				
FUEL PF	RICE ADJUSTMENT	DOLL						



Page: 34

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(7) C J HE	SSE INC				
	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 RO		ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0023	160007M	1.000	30,000.00000	30,000.00				
ASPHAL	T PRICE ADJUSTME	NT DOLL						
0024	161003P	(1)	25,000.00000	25,000.00				
FINAL C	LEANUP	LS						
0025	201003P	(1)	165,000.00000	165,000.00				
CLEARI	NG SITE	LS						
0026	203006P	133.000	60.00000	7,980.00				
I-7 SOIL	AGGREGATE	CY						
0027	302051P	400.000	50.00000	20,000.00				
	GRADED AGGREGA OURSE, VARIABLE ESS	ГЕ СҮ						

Tabulation of Bids

Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

Contract ID: 14110

	lo / Item ID Description		(7) C J HE	SSE INC				
	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		ROADWAY		Cat Alt	.lt Set: Cat A		It Member:	
0028	401009P	256,576.000	3.85000	987,817.60				
HMA MI	LLING, 3" OR LESS	SY						
0029	401021M	5,100.000	50.00000	255,000.00				
HOT MIX	K ASPHALT PAVEMI	ENT SY						
0030	401027M	72,000.000	0.50000	36,000.00				
POLYMI	ERIZED JOINT ADHE	ESIVE LF						
0031	401030M	32,100.000	2.00000	64,200.00				
TACK COAT GAL								
0032	401036M	15,800.000	0.01000	158.00				
PRIME COAT GAL		GAL						



Page: 36

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(7) C J HE	SSE INC				
	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Al	Set: C		It Member:	
0033	401054M	14,600.000	85.00000	1,241,000.00				
_	(ASPHALT 12.5 M 64 E COURSE	1 T						
0034	401060M	22,200.000	82.00000	1,820,400.00				
_	CASPHALT 12.5 M 76 E COURSE	5 T						
0035	401090M	581.000	100.00000	58,100.00				
	ASPHALT 19 M 76 EDIATE COURSE	Т						
0036	401108M	184.000	250.00000	46,000.00				
CORE S	AMPLES, HOT MIX T	U						
0037	602210M	15.000	350.00000	5,250.00				
BICYCLE	SAFE GRATE	U						



Tabulation of Bids

Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

Contract ID: 14110

	lo / Item ID Description		(7) C J HE	SSE INC				
	-	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON : 0001	ROADWAY		Cat Alt Set:		Cat Alt Member:		
0038	602213M	28.000	400.00000	11,200.00				
CURB P	IECE	U						
0039	602214M	27.000	300.00000	8,100.00				
INLET F	ACE PLATE	U						
0040	607006P	140.000	175.00000	24,500.00				
24" X 32 CURB	" CONCRETE BARRIE	ER LF						
0041	607018P	356.000	60.00000	21,360.00				
9" X 16" CURB	CONCRETE VERTICA	AL LF						
0042	608004P	562.000	39.00000	21,918.00				
NONVEGETATIVE SURFACE, SY POROUS HOT MIX ASPHALT, 4" THICK								

ids Page: 38

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

	Line No / Item ID Item Description		(7) C J HE	SSE INC				
	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	ROADWAY		Cat Alt Set:		Cat Alt Member:		
0043	609003M	745.000	32.00000	23,840.00				
BEAM G	UIDE RAIL	LF						
0044	609039M	2.000	1,500.00000	3,000.00				
BEAM G	BEAM GUIDE RAIL ANCHORAGE U							
0045	609075M	745.000	5.00000	3,725.00				
REMOV	AL OF BEAM GUIDE	RAIL LF						
0046	610003M	160,000.000	0.37000	59,200.00				
TRAFFI	C STRIPES, 4"	LF						
0047	610007M	7,000.000	0.70000	4,900.00				
TRAFFI	C STRIPES, 8"	LF						
0048	610009M	8,000.000	2.25000	18,000.00				
TRAFFI	C MARKINGS	SF						



Page: 39

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

Line No / Item ID Item Description			(7) C J HE	SSE INC				
	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0049	610012M	900.000	28.00000	25,200.00				
RPM, MC LENS	DNO-DIRECTIONAL,	WHITE U						
0050	610018M	560.000	28.00000	15,680.00				
RPM, MC AMBER I	DNO-DIRECTIONAL, LENS	U						
0051	610024M	1,460.000	2.00000	2,920.00				
REMOVA	AL OF RPM	U						
0052	610033M	48,000.000	0.25000	12,000.00				
RUMBLE	STRIP	LF						
0053	701120M	2.000	5,000.00000	10,000.00				
JUNCTIC COVER	ON BOX FRAME AND	O U						



Tabulation of Bids Page: 40

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

Contract Description: ROUTE 18 FROM ROUTE 34 TO C.R. 547

Line No / Item ID Item Description		(7) C J HESSE INC					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

Section Totals: \$5,781,078.60

Tabulation of Bids

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

Contract Description: ROUTE 18 FROM ROUTE 34 TO C.R. 547

Line No / Item ID Item Description		(7) C J HESSE INC					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 CONSTRUCTI		ON ENGINEERING Cat Alt Set:		: Set:	Cat Alt Member:		
0007 155006M	1.000	50,000.00000	50,000.00				
FIELD OFFICE TYPE B SET	JP U						
0008 155024M	11.000	2,500.00000	27,500.00				
FIELD OFFICE TYPE B MO MAINTENANCE							

Section Totals: \$77,500.00



Tabulation of Bids Page: 42

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

Contract Description: ROUTE 18 FROM ROUTE 34 TO C.R. 547

Line No / Item ID Item Description			(7) C J HESSE INC					
	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0003	NON-PARTICIF	PATING	Cat Alt	Set:	Cat A	It Member:	
0002	152004P	1.000	8,000.00000	8,000.00				
	S AND CONTRACTO TIVE LIABILITY ICE	PR'S DOLL						
0003	152015P	1.000	2,900.00000	2,900.00				
POLLUTI	ON LIABILITY INSUF	RANCE DOLL						

Section Totals: \$10,900.00



Tabulation of Bids Page: 43

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

Contract Description: ROUTE 18 FROM ROUTE 34 TO C.R. 547

Line No / Item ID Item Description Alt Set / Alt Member			(7) C J HE	SSE INC				
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0004	EROSION CON	NTROL	Cat Alt	Set:	Cat A	It Member:	
0010	158063P	(1)	1,100.00000	1,100.00				
CONCRE	TE WASHOUT SYST	EM LS						
0011	158072M	2.000	1,000.00000	2,000.00				
OIL ONLY TYPE 1	Y EMERGENCY SPILI	L KIT, U						

Section Totals: \$3,100.00

Page: 44

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

Line No / Item ID Item Description Alt Set / Alt Member			(7) C J HESSE INC					
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0005	LANDSCAPE		Cat Alt	: Set:	Cat A	It Member:	
0054	804012P	420.000	20.00000	8,400.00				
TOPSOII	LING, 8" THICK	SY						
0055	804015P	100.000	30.00000	3,000.00				
BORRO	W TOPSOIL	CY						
0056	806006P	420.000	5.50000	2,310.00				
FERTILIZ A-3	ZING AND SEEDING	, TYPE SY						
0057	809003M	420.000	3.30000	1,386.00				
STRAW MULCHING SY								
Secti	on Totals:			\$15,096.00				

Contract Totals	\$5,887,674.60	
Cost Plus Time Totals	\$5,887,674.60	



Page: 45

Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 District(s): C1

Call Order: 110 Project(s): 100% STATE

Contract Time: 04/20/15 COMPLETION DATE

Contract Description: ROUTE 18 FROM ROUTE 34 TO C.R. 547

() indicates item is bid as Lump Sum

Vendor Ranking

Page:

Call Order: 110 Contract ID: 14110 Counties: MONMOUTH

Letting Date: April 03, 2014 10:00 AM District(s): C1

Contract Time: 04/20/15 COMPLETION DATE

Contract Description: ROUTE 18 FROM ROUTE 34 TO C.R. 547 Project(s): 100% STATE

Rank	Vendo	r ID/Name	Total Bid	Percent Of Low Bid
1	15980	INTERCOUNTY PAVING ASSOC LLC	\$4,359,000.00	100.00%
2	S8162	STAVOLA CONTRACTING CO., INC.	\$4,472,800.00	102.61%
3	E0622	EARLE ASPHALT COMPANY	\$4,484,313.13	102.87%
4	T0546	TARHEEL ENTERPRISES INC	\$4,888,000.00	112.14%
5	S1389	SCHIFANO CONSTRUCTION CORP	\$5,103,689.55	117.08%
6	L9025	LUCAS CONSTRUCTION GROUP, INC	\$5,454,545.00	125.13%
7	H2818	C J HESSE INC	\$5,887,674.60	135.07%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,